EARAROBREBRT —5 XN—ZXBISH—F 202468158 (1) AO=#ER5H

Bl o>x3: #BH (BS) 5w 56 EE IR
[#&%] 17 :5,500,000 § ~ 23&:2,200,000 9 , 337#&:1,400,000 3 4 3%&:830,000 ™ . 5 & :550,000
HEE BERR MH HE | BF (T8 [91L (B2 | @ElEl | L3F [SER [ AR | #E | ARG (R / 5E / SERS
11713/ BRI VY +— [B] # o3 | e 2002 6-5-2-1 385 — | 1 (4:323) e E=S)
R:RLT#Y B:FIVIVITH 730 VHERES
) 1|7 R4 PT4 Y7 [B] 3 5IV\7._0:‘r"L\—IZI 2:?3(;.7 5-5-5-5 |38.3| - 5 (5_03 éég%ﬁ (FER)
Ry I—FILIXIT B:FURIAY oE R
N, irs R E= O I I R I R I X
RIRVIATAwIDxUT7— 87—~V bO—hk RPEL e
N 1 WA= # 3| HmE— 2(:30/14.)0 3233 [39.0| - | 12 ?4(3 EEE%&;%
RPN/ I5YY BORENVLR—L IS5UFT7—I
5l5lg|7 E —ygv # 3 SE}r_ﬁ[ﬂﬁﬁ{: 2:(011).1 11-11-9-7 |38.5| — | 6 (4_9£ E,%%Eﬂ &R
RiFIN—0 BFEVFLYY AR T4
6l8lis| xrvamary # 3 ;gxﬁz z:g).a 12-11-9-9 [38.8| — | 9 (5:)3 @gﬁé &R
R:OYVvy—NO—R B:TA4T74—XZA K SHHS
- “ H# 3 ﬁﬁo‘c— 2:01.6 3-4-5-5 |39.2| - 3| 46 | BE—H (FR)
8 4| FATEZ /I # 3 ﬁgfﬁlﬁ 2:(033).1 8-8-5-4 [39.8| — | 10 (4948) g%g %(iﬁ)
.ZI:UJJ\/)IJ B:UY—F= /) IIISTT—L
9 NESCECERY v 3 ;%;%#s 2:(042).5 -1-12 (412 - | 4 (4720) ;%%%E% &R
RTAYVEAY BixLvaveL—/ FREBIS

S ~ ) A 3 | XBEBH 2:02.8 13-13-12-11] 39.2 | — 7 506 | BEENT (ER)
N : NCECERZ:Ex I ke s oy |EAER
R:RwSXYF 8:IRTAFo0-R R IPEEIN
— = v— 43 | SRS 2:04.8 8-8-14-13 | 40.4| — 13 | 464 |FEKRE (EH)
1MEY 6| 7—ILTSN—=b A54.0 (541) 4y |, @) HBL—=2EK—2
E-URX #:EYa1-=Z3v HBeI77—LA
S/ 3 | ENEMF 2:05.4 14-13-11-11| 42.2 | — 8 s64 | tERZ (FER)
121112 FANSAVRX 57.0 (31/2) (=) |ABEm®
RFIPITRTVR BZWT«TPIVF FHRE%S
. W 4 3 | JURALZ 2:05.6 8-10-13-13 | 41.4 | — 15 | 484 | SHE— (FF)
135 |10] T hY 1 —FIb #56.0 ™ o | ® vyF-L-vyz
RTUYIRTFYREILIIL B:I3VTR=L /=Y Tr—1A

R:ZvF—TA) B:HRISF TARRYI v Rt

St 3 | =8 2:05.7 2249 |85 - | 1 | 2 |BR E®ER
EHQ U/3F+5 e 55.0 (172 ¢g) | BB

. - s LLFHE :05. -15-15- . - LB (EER)
1517114 SAF AT 4 IF— 43 43 2(/(\)3_)7 15-15-15-15| 40.6 14 (418) ) 25
RUVFIWRT =) B:FUIERI—2— MBS
- BHE - - - - - RBIIER &RR)
w11 |®T219FD "3 250 ?342) REFE
KR:Justify B:Coral Coast Morning Rise Stud
[ I N
£B0 51.4-38.6
NOYVIA L | 7.2-11.3-11.5-13.5-12.7-12.6-12.8-12.7-13.0-12.9
@ 11— —@BIEfLI
13—7+— 5,12(7,16)11(3.13) (4.6,10)9.15,8-2=14 1
20—7F— |5(7,1216(3,11,13) (4,6)10(15,9) (2,8)=14 1
Ja=zr= (x5,13)7,12(4,16,11)3(9,15) 2-8-10,6-14 1
41—F— (5,%13)7,4(16,11) (9,3) (12,15)-(2,8)=(6,10)-14 1
® ILRE
& s 13 200 | [ AR 11-13 4303 | | = 6-7 1,110 | | 3=E | 3-11-13 1,910
& B 13 1104 3-13 260M 5 & 11-13 1,090 388 | 13-11-3 7,390MH
il 240M 3-1 860F | | 5 = 13-1 1,520/
3 160

ABCDOVTIRHTERERRODDZ, THERAILZETL



